S = fas] : B B 8 B £ 5 & 2022EJ_§]\%T:€E1§ B = ZOZLEIE)\%‘M;S’!%

x = (i ;;) ﬁi—glﬂ % g E%% E % o #5 %ﬁ . %—“ﬁﬂ(ﬁﬂ,\ﬁ - B5RS) - EH:I'E it 2 | sousmms 27 & L%E? g i3

ARk a g EEX X g FEXRM - TDth . R | INRX(FE - BR) - BiE #A 8 % B - RBE), 3B Zof % o % $

2 0n | % Bb | (EEERE) - Z0fM 5] 8 Ed e H | X

ERKREER REEBZE=1rEME I Lk =5HHEA IR=ELHB X CECD
-$BRHE 1 BOTEEKREY Loils 2R =GHIEZ B OFE - AP A0, FUOEES XU 5 1| 5.0
-EBHE KRR ELTHIBIL, o EL FALHE60H, FF1004, 2k=

<ERHERE | W LicETHhB & (8 1KR10045, #Esz#noE | 12 1]12.0

<HEFBES| 1 SRR 5L B IR 1005, AP#BR200:5, F+400 6 2] 3.0

ACTERXE> 1 ZDfh=4Fz L =3 3 0 -

» <BAEZE | 1 2| 1] 20
[2021FEESEER] <EE> 1 6 1 6.0
g;ﬁ"’ﬂfg o > 1 10| 2| 50
i <EH-HE> | 1 4] 1| 40

e = = b X X IH INFE

Tﬁé}?ﬁﬁ%—zzoz B PN 1 & | R <BIHIITH NS> 4 1| 40
T448-8542  SEAIN] <EE> 6 17 6| 2.8
i ISR <EEIfE £ | 1 3 1] 30
URBEHEB> 9 29 9| 3.2

<HOICY B> 3 8 3| 2.7

<RE> 1 b 1] 5.0

<HEEE> 1 8 1 8.0

- REE 3 13 5| 26

-EEHE 1 6 0| -




